"SUBJECT CODE

SUBJECT

PAPER

4

B-21-17 |[PUBLIC ADMINISTRATION||  II

~ 7 - HAPLAICKET NUMBER

~QUESTION BOOKLET NUMBER

~..OMR SHEET NUMBER

200787

. DURATION

1 Hour 15 Minutes 100

MAXIMUM MARKS | | NUMBER OF PAGES | tN_[jMBER OF QUESTIONS

50

20 j

Candidate’s Signature

This is to certify that, the entries made in the above portion are correctly written é._rlaveriﬁed.

Name and Signature of Invigilator

INSTRUCTIONS FOR THE CANDIDATES
1. Write your Hall Ticket Number in the space provided on the
top of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examinatior, the question booklet
will be given to you. In the first 5 minutes, you are requested
the. ookl 1 lsoril Lo

helow ;

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(i) Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not
in serial order or any other discrepancy should
be got replaced immediately by a correct booklet
from the invigilator within the peried of
5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will
be given.

(iii) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated

below on the correct response against each item.

Example : @ . @

where (C} is the correct response.

5. Your responses to the items are to be indicated in the OMR

Answer Sheet given to you. If you mark at any place

other than in the circle in the OMR Answer Sheet, it will

not be evaluated.

Read instructions given ingide carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the

OMR Answer Sheet, except for the space allotted for the

relevant entries, which may disclose your identity, you will

render yourself liable to disqualification.

9. The candidate must handover the OMR Answer Sheet
to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. The candidate is allowed to take away
the carbon copy of OMR Sheet and used Question Paper
Booklet at the end of the examination.

10. Use only Blue/Black Ball point pen.

11. Use of any caleulator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.

PRpsR-I

bl

GG

wiho InsSen

1. & $& D wrio® adpas guos® b $65 835 Sonkh cabol.

2. & B HES SP oSoPNE BHod S0 dob.

3. 58% |Dborisns ¥ BEnAEEn S afphdod. Il ot
D;ESvest & Hendigse 300 Sox JOBS womred EHosOM
socrigiol,

(i) & B4 ased Sroodd E5Bhe eodd Al whSH Senito
DoSol.RHE Hudh mbcn wb3SE 30D &) HeniEtn
Db eohsbouB.

(ii) #5% b2 P Su@odS Hrdde BFto H PHIWSHS
bdo Sogyh Hoa BHe SopyS SeImRsol. bl
Howodod rh dov Hr0oDR Hongdt Eidwe TS T
Ao SEEon S HHes ERgodt TS do S
Bowotht Sof SREPOEHS Y AP Ioud I o
oo sdgp SEFHE 00D aRIh IS mihee OM
&%) PaHsET Hhsled. susotto BENEN Srriit

© oUER Sdobo mitedh.

(i) D Diforr FOIrHE dogd BHendiso SomgS OMR Higss
D 80%0rr OMR Sio Soxg & HERHESo  Agecs®
rahIB5.

4. B0 BHS eotd BegEmad HOZosE (A), (B), (C) bakhn

D) ore afwoon. (@B GHH DI P6KSED ITO S0

aobs dorr OMR S8dns® 150 Hey Soggd =ipds Seotd

HEed G35 BOYBRD $r0ed Hoy od Fowoll DEL Sois

8OLS Difore FFrboard.

Ela el - @ . @

(C) %83 1HBYosS wond

BhHoo HbYstuH & PHHHFIE aspss OMR Hgse ps

] 5‘)'!56.% oD HRoTD. eorsE JEeeed H¥od IO

St obh b E0%8S Srevosito Jdho.

6. B HES SPo Al SrSIeH eKEre S8Sod.

2EHHD BH/SEe 238 aQyS whfosed® e,

8. OMR &@&n P 988 Foos® $rdodSods Dicven Eod =88
Boodt & HBop% 305 dgorr H WO wdbdo b o =S
L]

DShed Do b Bnduond b e3gsD Dl edgeHo.

9. 36 Pdwd dogg b OMR Hovdy SHdser 368 SuSgnes
A, 80 565 K8 odhth BHHIYL K. 385 Frions sSHd
see B4 Sl OMR S@o awy) s§)S =40 bobhagss

10. 50/58 Soit sod davolS 1F Smpd ad3@rhosD.

1. ofodS Swd), syofiBole, Jogdl 38fovw 3ndoihisd
sbgrad® as@rhcisto Nhgo.

12. 8 Sdrproh Sty Bhod Bio.

_UI

=

i

Ll




o
% . ‘S
£ % Nﬁ%”
,c\ "\'
.1::""-'.""'3;
r/‘."'
A
L
"!{“m\s'.
N

)

LR TI



00 A

PUBLIC ADMINISTRATION / AL @a&m@gas
Paper - II / 558 - 11

Who among the following proposed
14 principles of organisation ?

(A) Chester I Barnard
(B) M.P. Follet

(C) Henri Fayol

(D) Gullick and Urwick

According to Luther Gullick, Span of
Control varies with :

(a) Function

(b) Time

(c) Planning

(d) Delegation of authority

Select the correct answer using the
codes given below :

(&) (a) and (¢
(B) (b} and (¢)
(C) (a), (b) and (c¢)
(D) (a)and (d)

Who described Comparative Public
Administration as a field abounding in
confusion and novelty ?

(A} Thomas Kuhn
(B) William Siffin
(C) Glen Paige

(D) A.P. Thirlwall

1.

Bod o706 14 $55{L8n Johsrd)
(DEFLODIBIL ?

(a) 336 ©0.20%8
(B) 0%0.2.38¢
© TQ dawd
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Assertion (A) :

The qualifications which are required
for appointment as members of the
Finance Commission are distinctly
stated in the Constitution of India.

Reason (R) :

The Finance Commission is constituted
under Article 280 of the Constitution of
India.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of
(A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

Consider the following statements :
(a) Functional foremanship

(b) Unity of command

(c) Centralisation

(d) Time and motion study

Which of these are associated with the
Scientific Management movement ?

(A) (), (®) and ()
(B) (b), (©) and (d)
(C) (a) and (¢)
D) (a) and (d)

Central Social Welfare Board is a :
(A) Non-Statutory body
(B) Statutory body
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1.

Paper-I1 -

Which one of the following is not a
‘Development Model’ Proposed by
E. Weidner ?

(A) Ideal Model
{B) Failure Model
(C) Static Model
(D) Systems Model

Assertion (A) :

Riggs holds that the degrees of
differentiation are potentially
guantifiable on a diuffraction scale.

Reason (R) :

The ecological models enable us to make
functional comparisons of
impressionable categories.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B} Both (A) and (R) are true, but (R)
is not the correct explanation of

(A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

Which of the following is the voluntary
provision in the 73'¢ Constitutional
Amendment Act ?

(A) Organisation of Gram Sabhas.

(B) Posts to be filled by direct
elections.

(C) ZReservation of seats for SCs and
STs in Panchayats.

(D) Reservation of seats for other
Backward Classes in Panchayats.

DG DB HBFHODS ‘©PIHR Sk’
o&® 2,58 =88 ?

&)  ©58) S
(B) oy SHee
(©) o Skovae
(D) S5Sige Ssrap

BO>ES (A) :

IDEsEB Irerdg) 28 (HEFS Tpend®
Fodrso BBV 6y erdome.

wHH R):

S038 Sowod Sdwracer oS
Bersdods Soke o TG0
HoTEHIEH Deo S,

(A) (A), (R) Bo&» 5883 HoBds»
(R), (A) % 3BGS DS,

(B) (A), (R) Bok» $6FSF =2 (R),
(A) B JBDS JSBes .

(©) (A) 36&3T 5 (R) 8.
(D) (A) &) = (R) 2.3,

& (Bots DB TBEE 735 TrempoK $Bes
S0 oY (B8 DB ?

(B) [ e doven Sabo.

B) BEE SqEe e SEYed Jodko.

©) SomrdH§ oo Soged® srge
HeoredH HHHAS» 3165@5&3 8%
b Basty Badiso.

(D) Horchd oof :ao:q;oé‘ BS5 IH8
D& 815005 Higd Basty Basio.




10. Which one of the following is not the
objective of SMART Cities ?

(A) Creating basic infrastructural
facilities in the urban areas.

{(B) Clean and sustainable
environment.

(C) Area based development.

(D) Promoting cultural heritage.

11. Which one of the following is not the
core component of Rural Employment
Programmes ?

(A) Employment generation to the
unemployed persons.

Provision of credit to the

individuals.

(B)

(©)
)

Benefits to the community.
Creation of durable assets.

12. Match the following with List - I to

List - IT by choosing the correct code.

List-1 List - II

(a) GVK Rao (i) Panchayat Raj Institutions.
Committee

(b) Balwant Rai (ii) Revitalisation of PRIs for
Mehata democracy and
Committee development,

(¢) LM Singhvi (iii) Existing administrative
Committee arrangements for Rural

Development and Poverty
Allievation Programmes.

(d) Ashok Mehta (iv) Review of Community

Committee Development Programme
and National Extension
Service.

Codes :

(@ () (@ (@@

A v G @ G

® Gv) W) @) @)

©)

@) @Gv) @ @
™ O G 3@y @

(AR

10. & (808 DEK) BE° ;8 285 o0 58
8?7
(A) B (Dromred® 579K éééaséav

%"émée) Benyd

(B) RS SO0 KyfBS Sogssemo
(C) | @rodchH egd @é’,)ase)g
(D) RPoYBE TSI [DEGHIrohes

11, &8 2 HE° (Trides aard SKsHos®
w¥od @vo“a:oa:ego = w030 O ?
() VS PHeH eFd EHOSESD
(B) HHoH HH8 LYo EO)osEHn
(C) dseRE HAraeen
(D) DYPSS sQo Sayd

12, $830S B8 80D 8od Bod ISR
2388 5 %B0e508%0.
585 -1 565 - 11
(@) 2.03.0% $20b () BoTaHs o Soigen
(b) mexosedd (ii) Berrigo, s £,
Do Ed DoTaHE T Sogesd
PIBBo Jaho
(c) abd.abo.bojny  (iit) u'wﬁbesva{gg, 2B0%
gé NmpT sEyEsre %o

g o S Jogeao

(d) ©5°8 e iv) SErerdHs, wrbod D58
g0b D s ESre Sy
&8 :
(a) (b) (¢) (d)
Q) Gv)y @Gi) @  G)
B) Gv) (i) @) G-
(O @y Gv) (u) (i)

D) @ G



0

13.

14.

Assertion (A) :

No criminal proceedings can be
instituted against the Governor of a
State in any Court during his tenure of
office.

Reason (R) :

There is a provision under the
Constitution of India for such
protection to the President of India and
the Governor of a state.

13.

(BBIRES (A) :

RSGE HB98° &%) s0os® 080 O
EP 55 JoesSses Bidoen 278 Dew
8.

THD (R) :

geddg 0'°L6§J&56, O“L&é (7266&0’008'0
PESTergoro” werod S 8.

(A) (A), (R)TBo&w ady) b (R), (A)
(A) Both (A) and (R) are true and (R) B JBG@S DSes.
is the correct explanation of (A).
(B) (A), (R) Boitr 2.3y =D (R), (A)
(B) Both (A) and (R) are true, but (R) © DS IS8 T
is not the correct explanation of = ’
(A). (© (A) 28 = (R) &)
(C) (A) is true but (R) is false. (D) ( A) é:a) S“b (R) 3..-:%.
(D) (A) is false but (R) is true. :
14. (SOIES (A):

Assertion (A) :

Line and Staff Agencies are so
inextricably intermingled in practice
that many scholars and practitioners of
management do not even attempt to
clarify the line and staff concept.

Reason (R) :

Many Ministries such as Finance and
Education are neither purely line
agencies nor purely staff agencies.

88 dadyes, FH dalew Josrr DbaH
8508 E506® sew O5IHS Sew, vio

QoxsreHens ol oGS Ko IS 1Y ﬁgé
563 (Hohdio Lroe Schds.

Y (R) :

PR Dbk DrgEepe So Dew Hod
Tped Fegre BS dadyer R e 3P
Dasdyen ™R 0.

(A) Both (A) and (R) are true and (R) (4)  (A),(R) Botr 2.3y 08aso (R), (A)
is the correct explanation of (A). 5 [0S DHBea,

(B) Both (A) and (R) are true agd (R) (B) (A), (R)Bo&r 2.y = (R), (A) %
:.; )not the correct explanation of $BFo DSes .

(©) (A is true but (R) is false. © @ ey = (R) 89,

(D) D) (A) 85 = (R) 2.8).

(A) is false but (R) is true.
el S

T ET TR Lt M (L e
T ) . L PY % B P -

S bl e I M e T T e -

A 4w 1y R Lt ot 5 5 ¥ et

e 5
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iy R
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16.

17.

The techniques of citizen’s control over
administration include :

(a) Election
(b) Public opinion
(¢) Pressure Groups

(d) RTI Act

Select the correct answer using the
codes given below :

A @, ®), (), @)
®) O, @, @
©) (@, @

D) @), @, D

Match List - I with List - IT by choosing
the correct code :

List -1 List - I
(a) Citizen's (1)) Guarantee against
Charter arbitrainess
(b) Right to (1) Accountability for
Information decisions

(¢) Legislative (iii) Total quality
Control approach

Judicial (iv) Transparency
control

Codes :

(a) (b) (¢} (d)
A) @(u)y Gv) Gi) @
B) Gv) i)y Gi) @
€ @) Gy Gv) G
Dy @G Gi) Gv) @

(D)

Which one of the following is the main
objective of ‘Sangam Yojana’ ?

(A) Welfare of Scheduled Tribes

(B) Welfare of Physically Disabled
Persons

Welfare of Women and Children
Welfare of Minorities

15.

16.

17.

() I3 Jgr

(d)

S A

Fodp P8 dohoges B écgémé‘ Bod
B D aTmow ?

(a) a?\)&é

(b) DeeRigrado

(©) g% Hpen

(d) SSmoE Sy S0

3OS BEH JoHER SHPEPEES

A) (), (b}, (), @)
B) (), (o), (D)
©) (@, @

D) (@), (@, (D

BOGHS S &S HBosto Ty HEE -1
JBE 11 &° 235858 ¢
385 -1 S8% -11
(a) PG ) DoHIa0s
Y $580%orr 580
b) SSeeS () SredH wrgs
o8

(ii1) :601’.;)‘ Teeagd
cSe)éo)qSo
@iv) bééégéé

Acdo|Ses
a°§o‘$>€°a:
Aol
§55n):

(a) (b)
(A) (i) @Gv)
(B) (v) (i)
© @ G
(D) @) (i)

©) (@

i) @

i) @

(iv) (i)

(iv) @

(B0t DEYY TBS® Sor Bres’ HEED
9§§d B ?

(A) drgen erde D00
(B) =855 seroive Sogo
(C) Holrg-8% Hogso

D) @oﬁy‘éoqﬁgéw Sogsvo

.;.'-ﬂ’- -..ﬂ‘* i e
i ARk *‘-‘ fﬁr‘“’»ﬁ e
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18. Which of the following are emphasised
by F.W. Riggs to compare
administrative systems ? Select the
correct answer using the codes given
below :

(a) Model - Building

(b) Cultural Dimension

(¢} Ecological Perspective

(d) Structural - Functional approach
Codes :

(A) (), () and (&)

(B) (b), (a) and (d)

(C)- (©), (b) and (a)

(D) (@), (b) and (a)

19. Assertion (A) :

Though the Central Service Officers are
not All-India Service Officers, the
nature of their task and postings make
them truly All-India in Character.

Reason (R) :

Unlike officers of All-India Services
(IAS) Central Service Officers do not
work under State Governments while
working in States.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

i-’.‘_‘lie’i;—*fl 507 Hims i el e e

18. Jrod Sdgo Deos® o, Lans 0R)

19.

Bobr8S® 38 FEHIIH? JI8F@o
EEDH JoHEY SErErdsn aed

(a) SdrTre ErHBLD
() évo‘é&)@é 0I5
(c) a’ao*gétﬁm cSe)éu)cﬁa‘m
(d) 36&8-3)(5)0 cﬁe)éojcﬁaﬁ:a
g, :

(4) (a), (c) SoBak (d)
(B) (b), () S8k (d)
(C) (o), (b) HoB5w (a)
(D) (d), (b) 2B (a)

BBFES (A) :

Bols B0 wdtes vde rss H85
wbHen SENBE T T Hen HOAH
8 DYPorben K0S’ B wdo grss
Barso BOAS o TR.

&% (R)

odo P88 85D WHTHL 5B Hom

B0l oo whster T 2.8 ooFos®

50 Fn9B)08 © ol HeHsy Aol

808 HIB5%0.

(A) (A), (R) Bo&ir 2.3 Lodosw (R), (A)
% $OFS DSGe.

(B) (A), (R)Botir 23 =D (R), (A) ®
KPS VBB T

(©) (A)asy) =R (R) 3.
(D) (A) 83 =0 (R) 2.5y,

s R e R R




20.

21.

22.

Paper-II ; i e R L

Assertion (A) :

Much of the time of the Head of the
Department could be saved by adequate,

clear and proper financial and
administrative delegation to him.

Reason (R) :

Head of the Department has to devote
much of his time sending up cases for
financial Sanction and administrative
approval.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).
Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

(A) is true but (R) is false.

(4A) is false but (R) is true.

(B)

(€)
(D)

The linking process for interaction
under systems approach does not
include :

(4)
(B)
(©)
D)

Communication
Delegation
Balance

Decision Making

Assertion (A) :

Hierarchy brings rigidity and affects
human relationships in administration.

Reason (R) :
Hierarchy is a built-in device to achieve
coherence in the organization.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

Both (A) and (R) are true but (R)
1s not the correct explanation of

(A).
(A) is true but (R) is false.
(A) is false but (R) is true.

(B)

©
D)

10

20.

21.

22.

T O

BOFES (A) :

DESEB, FOTHEDS 0BT 555D
30830 Jrarsod®, Bodygorr Bodas»
Sxgore Dabiko Sg TIRBE BRAPY
D08° Fesoxy Tavsy).

%D (R) :

NESEFoS HodaSew oo SEJ0S
BN Jow050dS Theod B
0HSPHOH HodLods® wgress Joss
JHocHo Ber owoS Hed $0B.

4) (A),(R)TBo&r 3...?’.% odaiw (R),(A)
£ JB@ES DSSeo.

(), (R) Botkr 2.3 =D (R), (A) &
QOGS DNSBes 0.

(A) 28y =D (R) 8.

(4) ) = (R) 2.5y

(B)

©)
)

Sgge $)E)E08* woss 3850 ©o8
BDBDHS® arerissn 5008 HB ?

&) Soeen

B) ©b=6 538

(C) JHFogsm

(D) &)gmﬁédeas’m

(DOFES (A)

BSe08S (FB Sreorr DEFS0 Bow
FoSE® Srpdsdonorres QepBotraw,
HYH (R) :

BHHS® JapgE% DOSENE rPPoBONS
PS> [BSKS (3.

(A) (A) DBk (R) Bokr 2.y SHBa%w
(R), (A) % [0S HSGes.

(A) $80% (R)Bokr a3y, =9 (R),
(A) 38D DSBea So.

(A) 2.5 =0 (R) 8.

(A) 83 =D (R) 2.8y

B)

(C)
D)
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23. A blue print of research work in Social
Sciences is called :

(A) Research problem
(B) Research design
(C) Research tools
(D) Research method

24. Which one of the following sampling
methods is used to study the public
opinion in the Social Science
research ?

(A) Quota Sampling
(B) Random Sampling
(C) Judgement Sampling

(D) Direct Interviews

25. The apex body for Social Science
research in India is :

(A) ISEC
(C) INSDOC

(B) ICSSR
(D) ICSR

26. The theoretical framework of research
examines the interrelationship
among :

(A) Variables
(C) Concepts

(B) Hypothesis
(D) Theories

27. “Co-ordination is the first principle of
organisation.” Who said it ?

(A) H.A. Simon
(B) M.P. Follett
(C) J.D. Mooney
(D) J.D. Millet

. .-v .-.-:,_' 3 _-'f’ i 1

23.

24.

25.

26.

27.

$OS ST G e (200 BS° HevF
(8) B8 By

(B) $88%> $uwae (design)

(C) $o8%5a Ariaren

(D) B8 Do

&3 (808 D) TPBE° P TG 0TS
|HerPDecsrd) ogsohto JahardE D
BBSCHS SEBY ADAPALD ?

(A) er (quota) H8SHPO
(B) oirg)ins Wa8sabso
(C) RPdH B850

D) B Soamsod

PESBES RS TG SOFEEE &
BT BoP D
(A) ISEC

(C) INSDOC

(B) ICSSR
(D) ICSR

50875 Wepod B0 Bod & iy ©ods
Sozmorred HB80%08

(A) Sorodeen (B)
(C) erdden
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Assertion (A) :

Lateral communication generally
follows the chain of command rather
than the work flow.

Reason (R) :

Lateral communication provides direct
channel for coordination and problem
solving.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

Both (A) and (R) are true but (R)
1s not the correct explanation of

(A).
(A) is true but (R) is false.
(A) is false but (R) is true.

(B)

(©)
)

Match the following by choosing the
correct code :

List-1 List - II
(Kinds of Budget) (Basic Orientation
of Budget)
(a) Line Item (1) Control
Budget
(b) Performance (ii)) Decision -
Budget Making
(¢) Planning (111) Management
Programme
Budget
(d) Zero - Based (iv) Planning
Budget
Codes :
(@ (b) (c) (d)
(A) @) 3Gi) Gv) @
B @ Gi) Gv) W)
©) @) v) @) G
D)y Gv) @) @) @

4 iy g g
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(A) (A), (R)Tolr 2.a)) Sbako (R), (A)
& SOG@S DS6es.

(A), (R) Bokr 2. 51 (R), (A) %
BOTE Didtes .

(A) 2 = (R) 35,
(A) 85 =0 (R) 23y,

(B)

(€)
)

B0@od 585 DoSED (8o D
2EHBHBD

H85 -1 58% - 11
(38 Ssren) (5o Sogg §%8)
(@) B85 0o i) Dcholse
ages
) VGRS (i) WowrEses
2G5
(€ (PeedsSes (iii) QGIees
SEYENE S
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0ged
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(@) (b) (@ (@)
(A ) (Gi) (v) @
B M (i) (v) (i)
€ @) vy @ @)
D) Gv) () @) @
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80. “Efficiency Record Method” for
determining the merit for promotion is
practised in :

(A) The USA
(C) Canada

(B) France
(D) dapan

31. The principal function of Directorates
in a state government is to :

(A) Undertake policy implementation.
(B) Render auxiliary services.
(C) Facilitate policy formulation.

(D) Promote inter-agency cooperation

and coordination.

32. “Budgets are not merely matters of
arithmetic but in a thousand ways so to
the root of prosperity of individuals and
strength of kingdoms.” Who said this
statement ?

(A) Lloyd George

(B) Dimock and Dimock

(C) Gladstone

(D)

Rene Storum

83. In employer - employee relationship,

whitleyism stands for :

(a) Joint consultative machinery
between the government and its
employees.

() A forum for free discussion and
redressal of individual grievances.

(¢ A forum of
arbitration.

compulsory

Select the correct answer using the
codes given below :

(A) (b) and (0)
(B) Only (a)
(C) Only (b)
(D) (a) and {c)

Paper i
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The Joint Consultative Machinery for
Central Government Employees was set
up in the year :

(A) 1959 (B) 1966
(C) 1969 (D) 1972
Who defined the Development

Administration as “an action-oriented,
goal oriented administrative system” ?

(A) Edward Weidner
(B) Milton J. Esman

(C) F.W. Riggs

(D) Mohit Bhattacharya

Consider the following statements and
identify the features of the principle of
hierarchy by choosing the correct code :

() Administrative function is divided
into successive units and sub-
units.

(b) Units are organised in pyramidal
form.,

() It facilitates unified direction.
(d) It exercises delegated authority.
Codes :

(A) (a), (b), (d) are correct

B) @), (), (d) are correct

©) (aj, (b), (c) are correct

All are correct

O
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39.

Paper—II"_ il

Match List - I with List - IT and select
the correct answer from the codes
given below :
List -1 List - IT
(Thinkers) (Concepts)
(a) C.I. Barnard (1) To Coordinate
means to unite and
correlate all the
activities
(b) Henri Fayol (ii) The creative side
of the organisation
is coordination
(c) Mooney and (iii) Principle of direct
Reiley contact is
coordination
(d) Mary Parker (iv) Coordination is
Follett the orderly
arrangement of
. group efforts
Codes :
(@ () (o) ()
Ay @ 3G) G Gv)
B) @ G @O v
(G ) @ Gv) @iy
D) (i) Gv) @) @)

The zero-based budgeting is the
contribution of :

(A) Peter A. Phyr

(B) Jimmy Carter

(C) Guy Peters

(D} Hoover Commission

The Comptroller and Auditor General
of India submits three reports to the
Parliament and State Legislatures.
Which one of the following reports does
not come under that category ?
(A) Audit report on finance accounts.
(B) Audit report on appropriation
accounts.
(C) Audit report on capital account.
(D) Audit report on commercial and
public account.
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43.

44.

Piﬁér-ll

Audit of State government accounts is
enumerated in which list ?

(A) Union List

(B) State List

(C) Concurrent List
(D) Residuary List

The first Lokayukta Act was first passed
in the State of : ~

(A) Karnataka
(B) West Bengal
(C) Odisha

(D) Maharashtra

Which committee suggested that the
Secretary should present matters in a
frank and fair manner and give both
pros and cons of policies to the
Minister ?

(A)  Menon Committee

(B) Gupta Committee

(C) Ayyangar Committee

(D) AK Goyval Committee

Which one of the following is not the
goal of Development Administration ?

(A) Modernisation

(B) Nation - Building
(C) System Change

(D) Technical Assistance

Which of the following is the first All
India Service according to the Macaulay
Report ?

(A) Indian Administrative Service.
(B) Indian Police Service.

(C) . Indian Civil Service.

(D) Indian Foreign Service.
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B) oG ardae

(C) Bocny wrdee

(D) @éf%g oA AL

9 SFoing SR ©FFHONS T D :
(A) Soubs

(B) 8 Bored

(©) abdp

(D) Sosboog

“aodo B'SQJJ DAY 0¥ S0
Qepandme Ty Jorre T eegSapd
BoloBd o8 o5yl Benard” o
EPDoDS Ed 08 ?

A) IS Ed

(B) o End

(C) odhgors Sd

D) D.B.MHS S

1Bod &S (HK8 o 2O 0B B ?
A) eHdste

(B) =8 Joeadm

(C) éegéé 30°8)

(D) AoBBE B5tcHo

Dd DF0E Psrdo |BodardSt &0 vde
Ebidel=3 655:\’» 2B ?

(A) @08cHS B&RRAS S

(B) =0&cHS FdD 3.

(C) 2085HS 2O JbFw.

(D) =o&cHS 788 ¥b.
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45, Globalisation means :

(A) Financial market system is
centered in a single state.

(B) The growth of a single unified
world market.

(C) Geographical location of a firm is
of utmost importance.

(D) Foreign capitalist transactions.

Questions 46 to 50 :
Specialization :

Max Weber considered specialisation an
important characteristic of an ideal-type
bureaucracy. Similarly, from Scientific
Management to the contemporary focus on
Management Sciences, the stress on
differentiation of structures and functions
and allocation of tasks and responsibilities
among the personnel on the basis of their
specialization in their respective fields have
been too manifest to deserve any elaboration.
The Indian scenario provides a paradoxical
situation, in view of the long history of
supremacy of generalist in administration
and the emerging realisation of critical role
of specialist. The seemy incongruity between
the two divergent phenomenon was
attempted to be resolved by the
Administrative Reforms Commission, when
it recommended that each member of the
Indian Administrative Service should opt for
specialisation in one of the eight functional
areas suggested by it. Though the
recommendation was resisted by the
members of IAS for obvious reasons, the
suggestion made by ARC did anticipate
certain future imperatives. The synthesis
between generalist and specialist cultures
became further feasible after 1979, when the
doors of All-India and Central Services were
thrown open to young men with specialised
educational backgrounds like Engineering
and Medicine.

Paper-11
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Paper-II

There is a seemy incongruity between
two phenomenon and  these
phenomenon are :

(A) Specialist and technician
(B) Generalist and specialist
(C) Politics and administration
(D) Authority and responsibility

What is the paradox of the Indian
Scenario ?

(A) Supremacy of specialist and
emerging supremacy of generalist.

Incongruity between dominance of
generalist and growing
importance of specialist.

®)

Incongruity between the roles of
politicians and: civil servants.

(©)

(D) None of the above.

Which one among the following
recommended for eight functional
specialisations in Indian Administrative
Service ?

(A) I Administrative Reforms
Commission.

(B) II Administrative Reforms
Commaission.

(C) Planning Commission.

Sarkaria Committee.

D)

ARG R
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49. Assertion (A) :

50.

Max Weber considered specialisation as
important characteristic of ideal-type of
bureaucracy.

Reason (R) :

Administrative Reforms Commission in
India recommended eight functional
areas of specialisation for Indian
Administrative Service.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
18 not the correct explanation of

(A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

Max Weber considered specialisation an
important character of this Kind of
authority.

(A) Legal-rational authority
(B) Charismatic authority
(C) Traditional authority
(D) Both (A) and (B)
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